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3D Vectors
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Clicker Questions 1 & 2

—_— 1. Which of these arrows
represents the vector <-4, 2, 0>?




2 What is the magnitude of the vector < 3, 5, -2 >?
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4) 30.00
5)°38.00



Discussion: Multiplying vectors



Discussion: Electric Forces
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Discussion: Electric field concept



Discussion: Electric Forces
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Discussion: Coulomb Force




At location C there is an electric ~ What is the direction of the
field in the direction indigated, due = electric force on the chloride ion?
to charges not shows. :
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A chloride ion (CI') is placed at 9 zero magnitude
location C.
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There is an electric field at location A, A) (0,—4_8 x107'° ,0>N!C

due to charged particles nearby. A proton 16

placed at location A experiences an B) (0’4'8 x10 ’0>N; ¢

electric force of (0,—4.8 % 107" ,0) N. C) (OJ 6x107",0) N/C
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What is the electric field at location A? 3
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Ponderable: Calculating E field
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